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What match criteria does an SRX Series device’s network processing unit (NPU) use to determine if a
flow already exists for a packet?

(Choose three.)

Response:

A. MAC address

B. inbound interface

C. source port

D. unique session token number for a given zone and virtual router
E. protocol

Answer: CDE

Which of these features are included with the free service level of Sky ATP?
(Choose two)
Response:

A. Command and control

B. Inline blocking

C. Threat Intel Feeds

D. Scan executable file types

Answer: BD

Which order do Junos security devices examine policies for transit traffic?
Response:

A. default policy, zone policies, global policies
B. zone policies, global policies, default policy
C. global policies, zone policies, default policy
D. default policy, global policies, zone policies

Answer: B




If you need to protect against malicious files that might be download through Web-based e-mail, which
Sky ATP protection mechanism should you use?
Response:

A. SMTP file inspection
B. IMAP file inspection
C. POP3 file inspection
D. HTTP file inspection

Answer: D

The vSRX is available for which two of the following hypervisors?
(Choose two.)
Response:

A. Hyper-V
B. Xen

C. OpenVz
D. KVM

Answer: AD

Which statement is correct about SKY ATP?
Response:

A. SKY ATP can provide live threat feeds to SRX Series devices.

B. SKY ATP relies on the SRX Series device to open and analyze suspect file attachments.
C. The local Sky ATP platform downloads the latest threat feeds from a managed file.

D. Sky ATP is a local hardware-based security threat analyzer that performs multiple tasks.

Answer: A




You are configuring an SRX Series device to inter-operate with a third-party IPsec VPN endpoint that
uses policies to create the VPN. In this scenario, what must be configured for the VPN to work?
Response:

A. perfect forward secrecy
B. VPN monitoring

C. re-keying

D. proxy IDs

Answer: D

When traffic has met match criteria, what options are available to be performed on the traffic?
(Choose three.)

Response:
A. permit
B. reject
C. deny
D. discard
E. redirect
Answer: ABC

Question: 9
Which Sky ATP security feed is provided to vSRX devices by default?
Response:
A. Premium feed
B. Malware feed
C. RSS feed
D. Command and Control feed

Answer: D

Which of these Sky ATP features require a premium or basic license?
(Choose two)



Response:

A. Outbound protection

B. Inspection of executable files
C. Command and Control

D. Threat Intel feeds

Answer: CD




